

We have prepared a quote for you

UPFIT_UNMARKED_QTY2

Quote # 001802 v1

Prepared for: Hyattsville City Police Dept

> Prepared by: Sarah Ellison



Lighting - Sirens

Description		Price	Qty	Ext. Price
	FRONT VISOR AND REAR DECK			
ENFWBRF (18 LED)	nFORCE® 6 Module Interior Rear Deck Lightbar, Full 1 Piece Shroud, 18 LED – Tricolor - ENFWB00D15 - QSF008265	\$877.00	2	\$1,754.00
ENFWBF (18 LED)	nFORCE® 6 Module Interior Windshield Lightbar, Split 2 Piece Shroud, 18 LEDs– Tricolor - ENFWB009CW - QSF008265	\$877.00	2	\$1,754.00
	HEADLIGHTS			
ELUC3H010J	SOS - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue	\$79.00	4	\$316.00
	CIV GRILL AND GRILL LIGHTS			
VEHICLE- UPFIT- SUPPLIES	FORD FACTORY CIVILIAN GRILL	\$1,425.00	2	\$2,850.00
EMPS8007Z-8	4" stud mount RBW - STUD MOUNT - 3 wire - QSF008265	\$129.00	4	\$516.00
PMP2BKDGAJ	90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black	\$8.00	4	\$32.00
	PROFILE LIGHTS			
EMPS20168-J	4" mpower Fascia with Stud Mount - 12 LED 9-32 Volt SAE with 8' Pigtail - Black Housing with Clear Lens RED/BLU - QSF008265	\$132.00	4	\$528.00
PMP2WSSSB	SOS - Window Shroud Kit for 4" Light w/ Stud Mount - Black	\$12.00	4	\$48.00
	TAIL LIGHTS			
ELUC3H010R	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher - Single Color Red	\$79.00	4	\$316.00
ELUC3H010B	SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Single Color Blue	\$79.00	4	\$316.00
	LIFT GATE AND CARGO LIGHTS			
EMPS103EX-J	SOS - 3" mpower with Screw Mount8 LED with8' Pigtail Black Housing with Clear Lens RED/BLU- QE092294	\$119.00	4	\$476.00



Lighting - Sirens

Description		Price	Qty	Ext. Price
EXFS10002-D	XF Flush Mount Light, 10-30 Volts, 9.8" Cable, SAE J595 Class 1, CISPR 25, CA Title 13, ECE R65 & R10 - Dual Color Red/White	\$61.00	4	\$244.00
	CARGO/DOME LIGHTS			
ECVDMLTALD C	Sound Off - LED Dome Light - 6" Round, w/ Red LED Night Light, fits Dodge Charger, Ford PI Sedan & Utility, 10-30V, White Lens / White LEDs	\$75.00	2	\$150.00
	BLUEPRINT AND LINK (includes speakers and siren)			
ENGSA5100HP P	bluePRINT® 500 Series Handheld Remote Control System, 10- 16v - 100 watt single-tone	\$1,465.00	2	\$2,930.00
ETSS100J5	Sound Off - 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	\$152.00	2	\$304.00
ETSSVBK01	SO - 2020 Ford Utility Speaker bracket	\$25.00	2	\$50.00
ENGSYMD01	SOS - bluePRINT Sync® Module	\$209.00	2	\$418.00
ENGLMK008	bluePRINT Link® Micro Module and Vehicle Harness for Ford Transit 2020-2023, Ford Explorer / Police Interceptor Utility (PIU) 2016-2023, Ford F150 2017-2023 only, Ford F250-F550 without large infotainment screen 2017-2023, Ford Escape 2020-2023	\$296.00	2	\$592.00
ENGND04102	bluePRINT® Remote Node with Magnetic ID	\$216.00	2	\$432.00
ENGHNK05	18 inch Harness Kit for Remote Node	\$41.00	2	\$82.00
		S	ubtotal:	\$14,108.00

Console - Mounts

Description	Qty
FACTORY CONSOLE	

Push Bar - Racks

Description	Price	Qty	Ext. Price
LOFT GUN RACK			



Push Bar - Racks

Description		Price	Qty	Ext. Price
LOFT-PIU20- 2G-AO	LUND - 20+ Ford FPIU Loft Dual Weapon Storage Tray w/ Auto Open - Interior Dimension 16.5" x 40" LOFT-PIU20-2G-AO Includes 2 Gun Locks, Muzzle Bracket Assembly, Butt Cup & Momentary Push Button Switch. For use with a 18" Shotgun & M4	\$1,119.00	2	\$2,238.00
LOFT-AO- KEYOVER	Auto Opening LOFT Optional Key Override System	\$157.00	2	\$314.00
LOFT-PIU20- NPKIT	LOFT- Non-Partition Mount Kit with for 2020 PIU	\$153.00	2	\$306.00
		S	ubtotal:	\$2,858.00

Antennas - Radios

Description		Price	Qty	Ext. Price
TSH-HAYAT- 001	Custom Kit TSH-HAYAT-001 Sharkee antenna Kit will connect:1X 7/800 radio moto4X arbitrator wifi1X arbitrator gps	\$446.00	2	\$892.00
VEHICLE- UPFIT- SUPPLIES	Extra antenna coax for future remote radio	\$18.00	2	\$36.00
VEHICLE- UPFIT- SUPPLIES	Motorola wiring for connecting brick to remote head	\$150.00	2	\$300.00
Customer provid	ded Radio, wiring, mic, and speaker			
Vehicle-Upfit- Custom	Radio remote kitting to include wiring.	\$648.00	2	\$1,296.00
		S	ubtotal:	\$2,524.00

Misc Additions

Description		Price	Qty	Ext. Price
	TINT			
Vehicle-Upfit- Tint4	Window Tinting - FULL CAR WITH WINDSHIELD STRIP	\$450.00	2	\$900.00
	ELECTRONICS TRAY, STORAGE, VAULT, AND STOP STICK COMPARTMENT			
CP-GB422212- C-PBK-T	42"W X 22"L X 12"H; PBK LOCK, T HANDLES, LIP, LOCK SLIDES	\$2,135.00	2	\$4,270.00



Misc Additions

Description		Price	Qty	Ext. Price
CP-20UV- CARGO-DECK	2020-23 PI Utility Cargo storage system w/ electronics sliding tray, rubber mat top and gap panel	\$1,529.00	2	\$3,058.00
	INSTALL KIT			
Vehicle-Upfit- Supplies	Misc. Material to include connectors, wire, and hardware	\$410.00	2	\$820.00
TREMCO	TREMCO Transmission Lock - 2023 Ford PIU	\$140.00	2	\$280.00
PROVIDE CAT5 CABLE FROM ARB VPU TO FRONT CONSOLE FOR LAPTOP CONNECTION WHEN NEEDED.				
		S	ubtotal:	\$9,328.00

Technology

Description		Price	Qty	Ext. Price
	ARBITRATOR SYSTEM			
WJ-VPU4000	VPU4000 RECORDING UNIT ONLY	\$3,356.00	2	\$6,712.00
WV-VC35	ARBITRATOR IN-CAR AS-1 COMPATIBLE CAMERA	\$909.00	2	\$1,818.00
IPS-ICV4-ACC	I-PRO ACC KIT FOR VPU4000, 256GB SSD, POWER DIST BOX, BATTERY BKUP, 25 ETHERNET	\$634.00	2	\$1,268.00
IPS-ICV4- 256SSD	256GB RUGGED SSD FOR VPU4000 W/PULL TAB, W/AES ENCRYPTION	\$135.00	2	\$270.00
ARB-M24	2.4 GHZ WIRELESS MICROPHONE	\$621.00	2	\$1,242.00
IPS-ICV-UDE- OP3	i-PRO ICV UDE ON-PREMISE DEVICE LICENSE FOR 3 YEARS, INCL. DEVICE MANAGEMENT, LIVE STREAMING AND REDACTION. SERVICE ENTITLEMENTS: 24X7 HELP DESK, SOFTWARE MAINTENANCE AND SUPPORT	\$337.00	2	\$674.00
	BODY WORN CAMERA AND VEHICLE EQUIP			
WV- BWC40D1A	Panasonic Cradle - Docking - Wearable Camera - Charging Capability	\$215.00	2	\$430.00
IPS-BWC4-12V -WIRE	BWC4000 12V VEHICLE HARNESS FOR WV-BWC40D1A OR WV-BWC40C1A	\$29.00	2	\$58.00
IPS-ICV- ETH25GRN	i-PRO Ethernet Rj45 Shielded Cable, 25Ft, Green - 25 ft RJ-45 Network Cable for Network Device - Shielding	\$19.00	2	\$38.00
		S	ubtotal:	\$12,510.00



Installation

Description		Price	Qty	Ext. Price
Vehicle-Upfit- Unmarked	Complete Upfit - Unmarked Police Car - Labor Only	\$3,960.00	2	\$7,920.00
		S	ubtotal:	\$7,920.00







Prepared by:

Frontline Mobile Tech Sarah Ellison 240-280-8964 Fax 2403604538 sellison@frontlinemobiletech.com

Prepared for:

Hyattsville City Police Dept

4310 Gallatin St Hyattsville, MD 20781 Jarod Towers (301) 985-5060 jtowers@hyattsville.org

Quote Information:

Quote #: 001802

Version: 1 Delivery Date: 07/05/2023 Expiration Date: 08/04/2023

Quote Summary

Description	Amount
Lighting - Sirens	\$14,108.00
Push Bar - Racks	\$2,858.00
Antennas - Radios	\$2,524.00
Misc Additions	\$9,328.00
Technology	\$12,510.00
Installation	\$7,920.00
Subtotal:	\$49,248.00
Shipping:	\$900.00
Total:	\$50,148.00

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Frontline Mobile Tech

Hyattsville City Police Dept

Signature:	Souch El	Signature:	
Name:	Sarah Ellison	Name:	Jarod Towers
Title:	President	Date:	
Date:	07/05/2023		